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[REAS FLER FE AR ER BEAS K el h S

TH4 | R6EERFEE MEMXERET (2010) TH#F
TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
JERRH R X 1 125, 944, 573
IR = 1 11,923, 140
T/h-T 2 1 11,923, 140 |7/h-TAEHE: (7i-) 1 =
HIFL (778-) 94 m
Hift 90mm (VFE 1)
HIFL (778-) 37 m
PAE 90mm (A ;
HIFL (778-) 39 m
Higt 90mm (FE) ;
HIFL (778-) 55 m
Mgt 1156mm (Vg +) ;
HIFL (778-) 22 m
A 115mm (#E)
HIFL (778-) 18 m
A 115mm (B
VANUINEUN 7 m3
VAR 25iq 1 =X
&Y (T/-) 1 =X
BERLTT = 1 7,933, 880
REE T = 1 7,933,880 |KJMIRAREK LT 200 m3
K3-10 ;
JEAY—h 585 m2
AL b= t=1mm ;
FCB7" 7V ML - fif {4 1 =
PEEET 2 1 103, 413, 948
e+ T 2 1 814,652 |ERIE Y (JEHI) 1 X
o
FEHA O-27) 1 X
+1 850, 000m3AT ;
- irb S T A 1 =
-1- E A2 FuN A
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Vol =
FER N E
TH4 | R6EERFEE MEMXERET (2010) TH#F
TSy « TfE - FER B {7 ¥ & & A bl A iR
/e =g
e 1 =
B2 A couE
AT = 1 30, 232, 900 |ATFTHL 32
Bt 424mm P GXEHE) 14. 5m (300 X 300,
HEH6mER)
FR[EEVV 3 m3
L:3m@sF
R bRE - fE 1 =X
2% 1 =X
TR DEET 2 1 72,366,396 | ¥ Lass)-} 77 m2
18-8-40 (FJF) W/CHEEML #JZ 10cm ;
Fetfgav ) -h 64 m
24-12-25(20) (&¥F) ;
THE HEE 500 m2
Bl HT Ruiav - 19 m3
24-12-25(20) (B¥F) ;
s ALER T = 1 641, 960
S BSLERVEZE T = 1 641,960 |ISAEE 1 =X
rGan 2 1 2,031, 645
THEHER T = 1 1,821,225 | LEHEMAEKE L 1 =X
(F&1E)
THEHERE L 1 =X
€ ES)
B EHT = 1 210,420 | A3 iEFHEE B 1 =
RN X =X 1 125,944, 573
IR & =X 1 17, 530, 000
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R PERE
TH4 | ROENEREEIR MEHXHET (201 0) TH
THEXSy - THE - FE5 H7 & & # i Gl 2 N

e Tre: X 1 1, 183, 000
BUGBREIUEL (REH L) 2V 1 1, 183, 000
sty (R L) 2V 1 16, 347, 000
R e E20 1 143, 474, 573
e R E20 1 53, 243, 000
T AT 2V 1 234, 406, 411
— e PR E20 1 35, 493, 589
Tk 2V 1 269, 900, 000
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Vol =
FER N E
TH4 | R6EERFEE MEMXERET (2010) TH#F
TEHEX Sy - THE - R B {7 % & A A iR
JERRH R =X 22, 859, 838
-7 my)FE (3R T = 20, 393, 663
e+ T 2 2,015,290 |FRYEY 1 X
+4)
HEL 1 2V
T wb AT 1 2V
0 Cabl- EHIRY £5Te) ;
M 1 =X
B2 A couE
VR VARPY RN EVZA R VAR DY E <) = 18, 378, 373 | BLIGFTHeAE ) -} 15 m
(#2£1500)
18-8-40 (F47) JEME 200cm &S 25cm ;
BT HeAfavy)-h 20 m
(#2£1750)
18-8-40 (75 47) JEIE 230cm @& 25cm ;
BFT/ A akay ) -} 4 m3
(1)
18-8-40 (B JF) ;
BFT/ A akay ) -} 4 m3
2
18-8-40 (B JF) ;
FERERT 79 m2
I T9vv7740~0 BIE 0. 2m ;
K7™ vy ) F 103 m2
#1500 ;
K7™ vy ) F 80 m2
1750 ;
JA - B3Rz 7Y =] 211 m3
18-8-40 (B ) ;
A - BEAKS (W) 109 m3
FARAG RC-40 ;
H Hib 26 m2
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T4 | ROFEEREHEIE MaMXEET (Z010) TF

TEHX4y « Tfd - FER & #A i A R
TR S B ik =10 ;
HAGFT Rufgav ) -} m3
18-8-40 (&) ;
A 2,466, 175
TEHERKT Y 1,864,975 | THEHEKH+ 2V
(X #E)
TR HERKE L F2V
€ EI)
SRR T = 601,200 | AdRA S R =
[ERAE Xy = 22, 859, 838
HiE 2 = 3,979, 000
BISTIGE: = 487, 000
HeffrE sy = 186, 000 | HUE oA #y =
BGRESGESE (5 L) = 301, 000
B (FEHL) = 3,492, 000
T = 26, 838, 838
Bl gy = 10, 850, 000
T =5l = 37, 688, 838
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